~ Which one of the following is NOT required
when classifying plants?
A. Colour
B. Type of seed
C. Whether it flowers or not
D. Movement

o
EEERE

~ The diagram below represents

avein
an artery

a capillary _
avalve - -—

TOwpE

The undlgested food
the e
A. stomach

C. large intestﬁne : e
D. ileum

Fat

Study the food, cham‘belowand answer the ﬁ‘ff?l};:cenvcction E

question that fallows

Seedlings —scutworms —sweaver bird& —shawk |

Which of the animals below would appear
in the same level as the weaver bird if a food
chain was made?

A. Antelope

B. Cheetah

C. Buffalo

D. Vultures

Which one of the followmg isNOT TRUE
about loam soil? It
-A. is amixture of sand and clay soﬂs

B. hasahigh humus content

C. has the best drainage

D. retains a moderate amount of water

Plants that feed on dead decaying matter

. are known as

A. parasites

. B. insectivorous
C. saprophytes
D. monocots

The surrounding of a living thing isit’s
A habltat

Iy

C. envn'onment

D. atmo_sphere
- One 1 'Dmmg when e was goingto school
" ter in the grass and it

o had n ."t' i'amed The droplets of water could

have ormed due to
A. ‘evaporation

C. melting

below

Hand ‘

Glas s ——Piece of paper

Water

When the glass was pushed downwards

A. the paper dropped to the surface of the
‘water -

B. the water entered the glass

C. the water rose in the basin

D. the air in the glass escaped
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11.

12,

13.

< Std six pupils made two holes in a tin, then

they put water and raised it up over a flat
surface with bare soil. The type of soil
erosion they were demonstratmg was likely
to be C sl

-A. sheet .

B. nll

C. gulley
D. -splash

Which of the plants below has a fibrous
root? '

A. Maize and beans

B. Wheat and onion

C. Coconut and mango

'D. Acacia plant and pea plant.

water in industgg
A. Making pu
B. Making fo
C. Cooling mgchi
D. Mixing chefpi

Which of the 1 n et v

to control bagth i
parasites in anifnals:
A. Dipping :
B. Rotational

" C. Spraying "
D. Deworming

Which of the vessels shown have valves"
A. SandU
B. Rand T
C.RandS

‘D.UandT

15. Pests in plants can be controlied using

various methods. Which of the methods *
below CANNOT be used to control pests?
A. Scaringthemaway . = P

B. Handpicking :

C. Dipping

D.- Spraying

16. Cigarette contains harmful substances.

Which substance in it is a stimulant?
A. Tar A ‘
B. Carbon monoxide -

C. Ethanol~

D: Nicotine

7. A wrong or untme idea which people believe

9. all paxasxtes are harmful to ammals because

A. they cause irritation
B. they live inside the body of an animal

~ C. they spoil the quality of the animal skin

D. they transmit diseases -

20. I old days food was preserved using all of

the following methods EXCEPT
A. use of low temperatures

B. drying

C. canning

D. smoking
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21. The amount of medicine to be taken ata

given time'is known as
A. prescription

B. dose

C. vaccine

D. antibiotic

~Study the diagram below and answer the
questions that follow

22. Which one s crre
A. R - nitrog; . :
- B. S - carbon dioxide :
C. T-oxygen v

D. Q-raregﬁses'\

23. Which one of the foll(tviug pair of planets -
- represent the and2 respectively.
B. Earthand Uranus -~
- C. Neptune I Venus - - 7
D. Mercury and Pluto

24. Which one of the following is NOTtrueof

an insect pollinated flower i

A. they are brightly coloured

B. have sticky stigma

C. they are scented , '
D. produces large amount of pollen grains

25. HIV stands for
A. Human Immune Virus
B. Human Immunodeficiency Virus
C. Human Immune Deficiency Virus
D. Human Infectious Virus

questmn that follow

26 The followmg can be grouped as tubers
EXCEPT
_A. yams
B. onions
C. potatoes
- D. cassava

27. Heat can be used to do all of the following
'~ EXCEPT
A. cooking

B. warming ourselves
C. secingclearly

D. ironing clothes

| '28. Which one of the following is a proper way

- to handle chemicals used at home. -

- - ___-A.-Spraying against the direction of wmd

B. Tasting unknown substances
C. Storing clearliquid chemicals in soft
drinks bottles 1

_ D. Sgoring chemicals which burn easily

1 'Tiié'eiﬁ;n ent below was done by std 5 pupils

- of Rudan Academy.  Study it and answer the

7 29. The pupils were investigating

_expansion of liquids
convection of heat in llqmds
convection of heat in air

- conduction of heat in liquids

COoF»>




30.

31.

32.

- C. Lucern

34.

Which one of the following nutritional

deficiency diseases affect children below the
age of five years?
A. Kwashiorkor
B. Marasmus

C. Anaemia

D. Rickets

A group of rays isreferredtoas a -
A. spectrum

B.- beam

C. rainbow

D. dispersion

Which one of the followmg is NOT a

concentrate?
A. Bone meal
B. Fishmeal

D. Saltlick

Which parts are well Igbelled.
J K L

M N
petals stalk style
sepals
sepals

petals

stigma
stigma
style
-style

A. sepals
B. petals
C. petals
D. sepals

stalk stigma
stalk ~ stigma

The following are effects of HIV to the
individuals. Which oneis NOT?

A. Sicknesses associated with HIV/AIDS
B. Lack of strength to play and work

C. Selfesteem lowers

D. Sadness in the family

stalk stigma

3s.

| 36.

37.

38.

N Whlch of'the fo]lowln *

Which one of the following plants DOES
NOT obtain nutrients from trappmg insects
A. Butterwort

B. Venus’ flytrap

C. Butter cup

D. Bladder wort

In a maize seed food is stored in the

A. cotyledon

B. micropyle

C. endosperm
D. testa

Lewis and Leon were balancing on a see
saw as shown.

';could Leondosoas
to balance with Lewi '
., move near the fulcr

- .,,_,f

B. ask Lewis fo m ve away from the

 fulerum
. move away from the fulerum

~D. exchange sides with Lewis

Which one of the following is a symptom of
tuberculosis?

A. Paininthejoints

B. Chest pains

.C. Diarrhoea
- D. Loss of appetite
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39.

40.

41.

42,

~ D. Weevils L o

43.

44,

‘A. Cutworms |-

The following are importances of HIV
testing EXCEPT
A. toovercome fear

- B. to campaign for the spread of HIV

C. tochange behaviour

. D. toplan for one’s future dependants

Youths can BEST protect themselves from
getting HIV/AIDS by

A. abstaining

B. having one partner

C. being faithful -

D. using protection

Oxygen is used inall the following ways b

lowing pests-attack /|
I S

EXCEPT
A. making food for plants

B. burming i
C. breathing e
D. gemlinatioLof'éee s
Which one of{the fol
seeds of plantd?

B. Stalk borer
C. Army worms

[7:}

LA

The process b&{%“hiehiivingfthxngs decay is' §

known as

A. decomposition
B. photosynthesis
C. transpiration .
D. pollination

Which of the following does NOT take
place during inhalation?
A The diaphragm flattens

B. The ribs move downwards and loWards |

C. The lungs expand
D. The chest volume increases

45.

Which one of the followmg can be grouped

as decomposers?
A Moss and algae

. B. Mushroom and toadétool

Study

/

‘ "tooth below’?

C. Bactena and fungi
D. Oxygenand carbon ledee

the diagram and answer_ the question

Which of the followmg is not true about the

A It has cusps and ridges

B. Itis part of the milk teeth -
C. Itisused for crushing and grinding

D. It forms part of the wisdom teeth

L3Rt ey




48. Which group of food below re'present a

49.

50.

balanced diet?

A. Beef, chips, bread

B. Arrow roots, chicken, green maize
C. Fish, orange, sweet potatoes
D.-Green bananas, rice, pears

Water can be stored in all the following

EXCEPT

A. pots

B. tanks
C. dams
D. bore holes

as
A dosing
B. dipping

C. drenching |

D. injecting

Giving of liquid medicine to animals is known -

The new JESMA AUGUST HOLIDAY HOMEWORK BOOKLET will be
available in all leading Bookshiops from 27* July, 2015.

Get busy with Jesma Homework
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PART |: SOCIAL STUDIES

ELIZ AREA

-

N

-
R SV
-0
-

_ﬁ ﬁ Mahogany forest

Bridge and river

Tarmac road Factory
’//’/ Murram road D.O District Officer
X Acriver project £\ H.E.Pdam
{:} Quarry E E Permanent buildings
PP Police post EFV Fishing village
X% Hut/ Houses P.O Post office
L J_I'L_I_ Swamp S.M Saw mill
D%h School ""ﬁ"”“ | Cattle dip




Study the map of Eliz area and use it to |8,  Which one of the following communities
answer questions 1-7 migrated from the horn of Africa and settled
1. Which one of the following economic ?Ngnilgim Tanzania?
activities is NOT carried out in Eliz area? B ' Irqu
A Fishing - . ) C. Sanye
B. Crop farming -~ T D. Wanyamwezi
C. Trading
D. Tourism ‘ 9. Beloware descriptions of a certain climatic
zone
2.  Whatisthe approximate length of the tarmac (i) Experiences two distinct seasons
road found in Elizarea? , ' (ii) Has 2 rainy seasons
A. 14km (iii) Highest rainfall is received when it s
B. 12km _ hot
C. 18km ~ ‘The climatic zone described above is
D. 22km ; stropi inental climate
3. Theclimate of t
map can BES
A. hotand dry @0 :
owing mountains can
B. cool and w¢ o b ‘9
C. cool and dry agorst mountain?
D. hotand w
4, Mostofthep belon
A. Christian . . .
B. Islamic owing rivers is
C. Hindu P at with its source
D. Traditional - viara - Mauranges
B. Tana - NgongHills
: . . ' C. Athi - Lake Tana
5. ! Thc‘a rlv.er project marked X was started D. BlueNile - Mt Kenya
mainly in order to .
A. provide water for irrigation 12 o ]
B. generate electricity . The weather instrument that is used to
C. attract tourists determine the amount of water vapour in the
D. provide water for domestic use atmosphere is called
| A. anenometer
6. The feature formed at the mouth of River B. hygrometer
Zoi is called C. ba!rometer
A. anestuary D. windsock
B. aconfluence . .
C. adelta 13. Which one of the following was the MAIN
D. atributary Zim 1\(;Ifz':i‘zﬁ*tl;:lan h‘a;l}ilti:)nal education?
. e the youth busy
7. Elizareaisheadedbya _ | B. Er{ialg peopie know how to read and
A.D.O. wime
B.D.C. ‘ C. Enable people live harmoniously in the
C. chief . Society .
D. County commissioner “nable people get jobs
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14.

15.

16.

17.

Use the map below to answer questions 18-20

18.

Which one of the following crops isthe | 19, All the ports below are found in the water

MAIN produce of Kaffa and Harar regions- body marked P EXCEPT
of Ethiopia? "A. Musoma
A. Coffee ' B. Port Bell
B. Tea C. Kisumu
C. Pyrethrum ' _ D. Kigoma
D. Cotton i
| - | 20. Which one of the following statements is
Which one of the following communities of TRUE about the country marked B during
Eastern Africa is a highland nilote? the colonial period?
A. Karamanjong A. It was colonised by Belgium
B. Toposa B. Itattained her independence in 1962
C. Bok C. The nationalists mainly used peaceful

D. Sebei negotiations
Badadopgpdence was won through armed

(

The BEST form of
Kenya to Eurofi 1y
A. air

B. railway
C. water
D. road

traditional leaders
bf Europeans and
& home when they

j ., Whoamong theff

Which onre of t
characteristic o
A. Tall evergr :
B. Umbrella siiapg
C. Scattered paich

D. Thorny bushes and thickets A. Shebelle

B. Ruvuma
C. Athi
D. Blue Nile

'23. Which one of the following sets of lakes

volcanic activities?

A. Paradise, Natron, Magadi
B. Shala, Tana, Kivu \

C. Chala, Baringo, Kanyaboli
D. Teleki, Victoria, Paradise

_ 24, Natural forests are likely to be found in one
The rivers marked (i), (ii) and (iii) of the following areas. Which one?
A. Ogaden area - _
B. North Eastern Uganda
. C. Slopes of Mt. Kilimanjaro
* D. Nyika plateau

respectively are

A. Kerio, Turkwel, Tana

B. Omo, Turkwel, Ewaso Nyiro
C. Turkwel, Kerio, Ewaso Nyiro
D. Nzoia, Turkwel, Kerio

. b
Saoans e e
BT e Een o

consists of lakes that were formed through




25.

26.

27.

28.

29.

30.

The two MAIN economic activities that | 31. Whichone of the following trade items isa

take place around Lake Turkana are major export from Eastern Africa?

A. fishing and tourism g gﬁgﬁs
B. agriculture and transport C. Petroleum

C. trading and fishing

D. mining and tourism D. Agricultural products

32. The capital city of Eritrea is

Who among the following officers in the A. Djibouti

traditional Buganda kingdom was in charge B. Asmara

of finances? ) C. Bujumbura

A. Katikiro D. Kigali

B. Omwanika : R

C. Umulamuzi Which one of the following statements is

D. Bataka TRUE about reliefregions in Kenya?
—— o ladbighlands have the lowest altitude

Below are descript about a certain - Theplat ion is the smallest region

the lake basin

community in thy =
¥ ave the highest

(i) Hadatra arliamen
(i) Was ruled §
(iii) They wer
The communi
A. Wanyamw
B. Abawanga
C. Ameru

D. Baganda

C.
D

g'urban,cemres is
the country?

*

Which one of
apastoral co
A. Agikuyu
B. Abaluhya
C. Maasai

D. Wangoni

swer questions

After a social studies lesson Mr.‘Kamau '

asked his learners to name the crop.that is-
grown in large scale at Kenana. Who gave

the CORRECT answer?

A. Karoki - Coffee

B. Justin - -Sugarcane :

C. Becky ) Bang1anas : 35. What is the nature of the winds in the area

D. Roony - Sisal marked T?
‘ A. Cool and dry

The cement making factory was located at g Z:Var;n al(';d dry
Athi River MAINLY due to D Fotand et
A. nearness of raw materials., . A

B. government policy o :

C. nearness to source of water.

D. availability of cheap labour
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36.

Which one of the following statements gives | 42. Mutie, your classmate has been seriously

the main reason why town M receives more injured on the leg while playing football with

rainfall than town N? his friends. The immediate action for the
- A. Town N is at alower altitude games teacher to take is

B. Town M is closer to the equator than N A. call the police and inform them about it

C. Town N is cooler than town M . B. send for the parents

37.

38.

39.

40.

41,

C. administer first aid to him
D. look for the headteacher to inform him

D. Town N is on the rainshadow

The above diagram shows the formationof a -

A. seabreeze 43. One ofthe following institutions discusses
B. land breeze : issues affecting the counties in Kenya.
C. reliefrainfall . Which one?

D. convectional rainfall A. Cabinet
. B. Senate
Which one of the followj
to the Ameru counci
colonial period
A. Nabongo
B. Njuri Nche
C. Oloibon
D. Orkoiyot

Which one of th@oll
ed concepsusin the pre-colonial

Which one of t

g water bodies in”
Eastern Africa i

fish? A
A. Lake Tangz ng institutions
B. RiverNile ic human rights?
C. Indian Oce A. Parliament
D. Lake Magadi B. Treasury
C. Constitution
The mineral that is used to make water filters D. President
and heat insulators is mined at o
A. Kerio valley 46. Which one of the following communities
B. Sultan Hamud was the last one to migrate and settle in
C. Kariandusi Southern Tanzania?
D. Lake Magadi , A. Wanyamwezi
_ B. Wangoni
In which one of the following months of the C. Aramanik
year is the sun overhead the tropic of D. Wahehe
cancer?
A. June
B. March
C. September
D. December




47.

48.

49.

-50.

1.

Which one of the following industries is a
processing industry?

A. Leather tanning

B. Paper making

C. Shoe repair

D. Bicycle assembling

The BEST way to reduce the number of

armed robberies in Kenya is by

A. passing strict laws on robbery

B. educating people on the importance of
obeying the law

C. giving heavy punishment to robbers

D. employing all unemployed people

Which one of the follo

NOT formed thy
A. Mt. Usam

C. Mt. Ras dasga
D. Nyandarua ran

A. Kikoma
B. Mteko

C. Mganwe
D. Mugabe

Which one of the following arms of the
government is charged with administering
justice and presiding over cases in the
courts?

- A, Parliament

S2.

B. Judiciary
C. Legislature
D. Executive

Which one of the following events and
features attract MOST tourists to Maasai
Mara reserve?

A. River Mara and its crocodiles

B. Flamingoes and white rhinos

C. Migration of the wildbeests

D. Variety of birds

53. Below are descriptions of a certain type of

climate: '
(i) Receives rainfall below 250mm
(ii) Day temperatures are very high
(iii) Presence of cloudliess skies

The above type of climate is experienced
. inthe Kenyan highlands

in the Lake Victoria basin

. on the slopes of Mt. Kenya

. in the Ogaden region of Ethiopia

A
B.
C
D
S4. Which one of the following sets of

communities consists of only Western Bantus
of Kenya?

adawida, Abagusii

B. Abaluhya, A
C. Akamba, Ab iineru
D. Abakuria, A Wataveta -

t it Kenya are elected
as known as

A. Returning officer

B. Renumeration officer
C. Presiding officer

D. Polling clerk

57. Which one of the following is the MAIN

challenge facing wildlife conservation in
Kenya today?

A. Rampant insecurity

B. Poaching

C. Poor transport network

D. Pests and diseases
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58. The main source of River Nile is
A. Lake Tana
B. Mediterranean Sea
C. Ethiopian highlands
D. Lake Victoria

59. Which one of the following crops is
MAINLY grown in large scale in the
Arusha-Moshi area?

A. Maize

B. Sugarcane
C. Bananas
D. Coffee

60. Who among the followj
Eastern Africa introd
in his country? [
A. JuliusNye
B. Haile Selas

Ujamaa villages

The new JESMA AUGUST HOLIDAY HOMEWORK BOOKLET will be avaﬁabé
in all leading Bookshops from 27* July, 2015.
Get busy with Jesma Homework
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PART ll: RELIGIOUS EDUCATION

SECTION A 68. According to Exodus 6:28-30, who among the
CHRISTIAN RELIGIOUS EDUCATION following people was given skills in doing all
kind of artistic work?
61. Which one of the following statements A. Moses B. Priscilla
explain why God created Eve and gave her C. Paul D.Bezalel
to Adam?
A. God wanted Adam to multiply and fill the 69. Which one of the following commandments
oarth teaches Christians that they should love their
B. Adam feared the snake neighbours as themselves?
C. She was to be Adams companion A. Do not accuse anyone falsely
D. Adam needed a helper B. Observe the Sabbath and keep it holy
C. Do not use my name for evil purposes
62. Who among the following people changed His = D. Do not commit idolatry
name after he fought with an angel of God"
A. Abraham Srdingztonthe sermon on the mount,
B. Jacob ire to do God’s will
C. Esau
D. Joseph romise of God
63. Who among t
ted as o longs to them
appoin or them in heaven
Exodus?
2 Ezgib nést and having strong
64. “As for me, th _1 ' co:t:.tn tm:nt
you will be the f; g) assertiveness
X’asngeh"ed toy lﬁio all the following
B‘ Adra am onc. Which®one is it?
C. N ahm A. Be humble .
D. Moa B. Do it in a private place
- VI0SES C. Use meaningful words
65. The judge of Isracl who was led by the Holy D. Use of many sweet words
ipil;t to fight the Midianites was known as 73. Which of the following disciples of Jesus
B. Dal;lsonh Christ was surprised when called and
C' S N orzli wondered if any good thing can come from
D. Ga}:lnuc Nazareth?
- Lideon A. Philip B. Nathaniel
66. Who taught Apollos in Ephesus more about C. Thomas D. Judas Iscariot
the word of God? . 74. Which one was an accusation of Jesus before
A. D(_)rc.as B. Lydia the Sanhedrin?
C. Priscilla D.Moses . Calling himselfthe son of God
67. Which one of the following is NOT an effect Calling himself the king of the Jews

Claiming to be the Messiah
. Telling the people not to pay taxes to
emperor

TOw>

of irresponsible relationship between boys
and girls?

A. Low self esteem

3. High performances

C. Child abuse

D. Early marriages
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75. Who among the following disciples of Jesus
Christ was the first one whom Jesus
appeared to after His resurrection?

A. John
B. James
C. Peter
D. Andrew

76.

In which one of the following towns did Jesus
* encounter a tax collector named Zacchaeus

and changed to a good man?

A. Bethlehem

B. Jericho

C. Carpenaum

D. Nain

77. Which parables of Jesus Christ teaches
Christians to share what thews
needy in the socnety" gic parable of the
A. Richman an{ifeags

B. Talents

C. Friend at mi

D. Good Sama

$513E0 5

78.
King Herod bec
the misfake the§
wife?
A. John the disg
B. James _
C. John the Baggi
D. Paul

79.

Prophet Hosea prophesied that Jesus would
A. enter Jerusalem riding on a donkey

B. be arefugee in Egypt

C. give sight to the blind

D. be born in Bethlehem

80.

Three of the following miracles were

performed by prophet Elisha. Which one is

NOT?

A. Unpoisoned the poisoned stew

B. Provided grain for Samaria during the
drought

Recovered the borrowed axe head from
water

Raised Zarephath womans son

C.

D.
81.

The following were ways in which the living
dead used to be honoured in Traditional
African Societies except one. Which is it?
A. Pouring libation

B. Offering sacrifices -

C. Naming children after them

D. Giving offerings

10

82. Which one of the following specialists in
‘- Traditional African religion received
messages from the living dead and passed
them to the living?
A. Seers
C. Medicinemen

B. Diviners
D. Rainmakers

83.

Which among the following was a commeon
practice-during worship by both Christians
and traditional religion?

A. Speaking in tongues

B. Saying prayers

C. Giving sacraments

D. Mentioning the ancestors

What is self esteem?
A It’s the feelmg of goodness about what
Ve arceRbtastg do
B. The conce Bristi
of others

ay of pentecost?
Paul

. Who among the following was raised by Peter
from the dead?

A. Eutycas B. Aeneas
C. Priscilla D. Dorcas
88. The following are members of the Laity
EXCEPT
A. Catechists
B. Ushers
C. Majors
D. Sunday school teachers
89. When Gideon defeated the midianites, God
instructed him to carry the following except
A. ajar B. a trumpet
C. atorch D. swords
90. Which one of the following special schools

in Kenya is sponsored by the Salvation Army?
A. Kambui Presbyterian school for the deaf
B. Thika school for the blind 4

C. Maseno school P

D. Mangu school




~~ SECTION B - 69. The Sunni Muslims derive their teachings
, . from schools of thought called
ISLAMIC RELIGIOUS EDUCATION Madh-habs. £
61. The Qureish people mocked the prophet that A. four B. five
had no son. But Allah (s.w) revealed a surah C. six D.ten
t ind him that He had given him other
fg‘:::::f Thl:: is :ural? ad given hi 70. A believe in Allah as if you see him and be
A. Al-Qureish B. Al-Ma’un sure that He sees you, is a pillar of
C. Al-Kauthar D. Al-Asr .+ | A. Imazn B. [t\saan
C. Ibaada : D. Jihad
62. The following are all terms used in Surah Al- ) o .
Bayyina. Which one refers to non-Islamic 71. Which one of the following is a condition
cultures that people should avoid? necessary for Allah to accept salaat?
A. Bayyina A. Taking a full bath
B. Hunafaa-a B. Convering the head
C. Suhufan mutwahhara C. Facing Qibla
D. Bariyya D. Wearing a kanzu
63. InSurah An-Nasr, Alla Eddah is a perigdithat should be stayed by
when His help conditions. Which ones?
A . all the Qureifhi fagiligs B s A h and Nifas impurities
ease ] ) _ 8. B. : 1 is Mughalladha
B people_z will ergfer the 1g - ndbreast feeding
C.Muslims a Hose who loose their
D. people will 5
64. Which one of th@fofow y , as used to punish
in Suran An-N4§? $ay .' ‘ eliberately assumes fast of
; 135 2 _asiamadh i : o%ger it. Which one is
e months
65. Which one of these cities is referred to as D. Feeding sixty poor people
“Al-Baladil Amiin” in Surah Tiyn? ) .
A. Jerusalem B. Madina 74. Muslims should not move near or engage in
C. Bethlehem D. Makka magic activities and believes because it
' : A. is a form of shirk
66. There are a total of 60 houses from Dhul B. is a harmful practice
kifli’s house to the road side. Those who C. is hand works of the devil
have rights of neighbourhood aretupto house D. encourages cheating
number
A.47 B. 25 75. In which of the following places does the
C. 40 D. 17 stone throwing practise take place during Hajj
67. Which ofthe following is a choice of salaats N B. At Musdalif
that can be combined but not reduced for a ) 4 ’ uzeaiita
traveller? C. AtMinna D. At Arafa
g' ;)dl;ul;‘lrxsba:‘:id‘}sa::r | 76. The Islamic Sharia recommended that
C. Asrgan d Isha J lactating mothers breastfeed their young ones
: for a period of
| D. Isha and Dhuhr A. 9 months
68. Who among the following prophets is NOT B. 2 months
on the list of Ulu-Azm prophets? C. 6 consecutive months
A. Nabii Nuh ~ B.Nabii Issa ' D. 12 years
C. Nabii Ibrahim D. Nabii Yusuf
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77.

78.

79.

80‘

81.

82.

83.

84.

Which of the following Angels is | 85. Who among the following wives of the

WRONGLY paired with a duty he performs? . PmPhet reported the largest number of
A. AngelMalik - distributes rainfall hadith?
B. Angel Mikaiil - will blow a trumpet A.Mama Aisha
C. Angellzraiil - removes souls B. Hafswa
D. Angel Jibril - reveals wahyi C. Lady Khadija
D. Sauda

Th impurities in Hadath Akbar that
ore 2re rrpurities in Hada 2 86. Allprophets of Allah were “Maasumin”, This

necessitate Ghusul
A. one B. two means they were protected from
C. three D. five A.sins B. death

C. marriage D. Adhaab
There i art of Fardhul Udhu-i of which
it ise Zslg :::nz to ‘o,vipe the whole :)lfit. \‘;\v’hich 87. Inlslam, the name Allah is introduced in the
one? The whole ear of a newly born baby.through

A. hand B. head A. Kalima B. Adhaan

Cllog D foce C. Takbiir D. Tahniq

Among the places wh A person suri¢ from HIV/AIDS should
during Isra wal be__ acc i o [slamic teachings.
Muntaha. This#was A referred to agian ple to those to do

A.in a cave
C. in a Mosque

In which of ths late
rophet (P.B.UE acke s Ba

I")l"ha‘:]if trgbe‘? I ; L | ¢ foll o@g%s a good wish for

A. Ashawt - s. We wish them ; ajj

C. Taif

The sixth mont

A. Rajab 2
B. Jamaduth Th $ . ,
C. Rabiul Thaani 2U. Who turned back 300 Muslims army men who
D. Dhul Qaada were heading for Uhud battle?
A. Abuu Sufian
The following are miracles performed by B. Abdallah bin Ubeyyl.bm Saluul
Nabii Issa (A.S), EXCEPT one. Which one? C. Abu Lu-ulu-a Al-Majus
A. Healed lepers off leprosy D. Abuu Lahab

B. Changed some people into monkeys
C. Gave the blind a sight
D. Rose the dead back to life

The pillar of Hajj in which the pilgrims run
between valleys of Mount Swafa and Marwa
is called

A.Sa’y

B. Twawaf

C. Rami-ul Jimaar

D. Tashriq

The new JESMA AUGUST HOLIDAY HOMEWORK BOOKLET will be avanlable

in all leading Bookshops from 27% July, 2015.
Get busy with Jesma Homework
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find its perimeter?

A. 5lm

B. 102m

C. 204m FoR 2
'D. 1300.5m =

Which one of the following is one million, one
thousand and eleven in figures?

A. 101011

B. 1001011

C. 1100011

D. 1010011

Which of the following numbers is the
smallest? '

A. 2016 580

B. 2 006 851

C. 2010 865

D. 2008 175

The area of a square plot oﬁand is 2601 m?,

.

The sum of two numbers is -:I}A782 1, onc of

the numbers is 138 272. Find. the-other |

number &
A. 10549 ‘
B. 286 093

C. 9549

D. 9649

Work out: 8 +40x6+12
A. 88

B. 28
C. 20
D. 18

Find the value of:
8721—32-
8 4

P
n
00 | ~—

@]
oo|u w!w -

7. What is the next number in the series?
2,6,12, 20, 30,

A. 36
B. 56
C. 40
D. 42

8. Which two l.ines in the figure below are
parallel?

B
110° 70°

H"on a sqtf&?é dlfferent"from arhombus? A
“A.-hasall sidesequal
©'B. hasall angles equal

C. has diagonals that bisect at right angles
D. has diagonals that are not equal -

10. What number must be multiplied by 0.05 to
get 507
A. 0.01
B. 10
C. 100
D. 1000

11. Solve: %(24+24x)—12‘= 33 -




12.

13.

14.

15.

16.

What is the place value of digit 2 in the

answer?
8040x5
A. Ones
B. Tens
C. Thousands
D. Hundreds

Find the measurement of x in the figure
b?low acm

12cm| -

The price of a shirt became sh. 525 after
an increase of 5%. Find the previous price.
sh. 25
~sh. 500
sh. 520
sh. 530

Cowpr

Work out: 3.145x 1.9
A. 59.755
B. 6.9755
C. 5.9755
D. 5.9855

Work out: 1.2%0.012
0.12

A 1.2

B. 12

C. 0.12

D. 120

17. Find the area of the figure

Scm

4cm

4cm

00. The price is

The price of a boo
increased by 15%. Find the price increase
sh. 460

sh. 160

sh. 60

sh. 415

Sowp

20. Achieng paid sh. 450 for a watch after

being given a discount of 25%. Find the
price of the watch before the discount

A. sh. 600

B. sh. 475

C. sh. 150

D. sh. 500

21, Ifx= Y2, y=1and z=2, find the value of

2x(y +z)y
A 3

SOow
0o On &
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22,

23

The mean mass of 7 boys is 43kg. The total

mass of 4 boys is 160kg. If the remaining 3
boys have the same mass, find the mass of

“each of the three inkg. -

A. 3%g |
B. 113kg

C. 141kg~

D. 47kg

On the triangle below construct a circle
passing through points A, B and C.

Measure the diameter of the circle
A

24.

25.

"A. 5.0cm

B. 5.5cm
C. 9.5cm
D. 7.6cm

The area of lrapezmm is 92cm? Two of the

parallel sides measures 9cm and 14cm.
Find its perpendicular height

A. 4cm

B. 8cm

C. 23ecm

D. 16ecm

2 1 ,
IfEX—7 and 8—'6’( have the same
value, find the value of x
A. 18
B. 1

5
C. 30
D:. 90

26.

27.

20,

30.

One of the sides of a square plot measures

96m. It is drawn using the scale 1:800.
What is the area of its seale drawing?

A. 12cm?

B. 9216¢cm?

C. 48cm’

D. 144cm?

Reduce sh. 740 in the ratio 9:10
A. sh. 666
B. sh. 74

. C. sh.$822.20

.

g [

AR

A. 70°
B. 60°
C. 120°
D. 140°

The sitting capacity of a matatu was
decreased from 20 passengers to 15
passengers. What was the percentage
decrease?

A 333%

B. 20%

C. 25%

D. 75%

What is the value of 1 =-0.002?
A S

B. 50

C. 5000

D. 500




}

.5 |
31. Kamaugot 3 of sh. 4800. Mohammed got

5
did Mohammed get?
sh. 3 200
sh. 4 000
sh. 24 000
sh. 8 000

of what Kamau got. How much money

COoE»>

32.

Nina took 45 minutes to cover a distance

of 4.5km on foot. Find his average speed
inkm/hr.

A. 10km/hr
B. 6km/hr
C. lkm/hr
D. 60km/hr

1
33. Write 12§%as

A. 12125
B. 0.12125
C. 1.2125
D. 121.25

The area of one end of a circular pipe is
8cm?® What length of the pipe will hold 4m?
of water? (Give answer inkm.)

A. 500km

B. 5000km

C. Skm

‘D. 500 000km

34.

~ 35. The graph below shows milk production by

dairy cattle in a certain farm from Monday
to Sunday

500

400

Between which two consccutive days was
the increase in milk production the highest
A. Monday and Tuesday

B. Friday and Saturday*

C. Tuesday and Wednesday

D. Saturday and Sunday

Six men can weed a field in 3 days. How

long will it take 9 men?
A. l'4days

B. 1 day

C. 2 days

D. 4'4days

36.

37.

A train left Nairobi for Mombasa at
9.45pm. The journey took 11hr 55min. At
what time did it arrive at Mombasa?

A. 9.00am .

B. 9.00pm

C. 9.40am

D. 9.40pm

STD 7 007 2015 MATHS




12,

13.

14,

15.

16.

What is the place value of digit 2 in the

answer?
8040x 5
A. Ones
B. Tens
C. Thousands
D. Hundreds

Find the measurement of x in the figure
bglow ocm

12cm

15cm
17cm
16cm
10cm

Sogw»>

The price of a shirt became sh. 525 after
an increase of 5%. Find the previous price.
sh. 25

sh. 500

sh. 520

sh. 530

Sow»

Work out: 3.145%x 1.9
A. 59.755
B. 6.9755
C. 59755
D. 5.9855

Work out: 1.2x0.012
0.12

A 1.2

B. 12

S C.0.12

D. 120

.

17.

20.

21.

Find the area of the figure
9cm

4cm

4cm

The price of a book is sh. 400. The price is
increased by 15%. Find the price increase
sh. 460

sh. 160

sh. 60

sh. 415

ocaw»>

Achieng paid sh. 450 for a watch after

being given a discount of 25%. Find the
price of the watch before the discount

sh. 600

sh. 475

sh. 150

sh. 500

Caws

Ifx=Y%,y=1and z=2, find the value of:

2x(y +z)y
A 3

SOow
NN
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46.

48.

How many cubes have been used to
make the given stack?

A. 35
B. 60
C. 40
D. 8

letters

Weights

Not over 20g
Not over.50g
Not over 100g
Not over 200g

Awino pdéted 3 letters each weighing

- 17g and another weighing 80g. How

much did she pay at the post office?
A. Sh. 43
B. Sh. 45
C. Sh. 69
D. Sh.79

Kaunda had sh.x. He spent a third of it
and was left with sh. 600. Find the value
of x. :

A. Sh.900

B. Sh.1600

C. Sh.1800

D. Sh.1 200

49. The circumference of a bicycle wheel is
176cm. What is the radius of the wheel?
A, 56cm

B. 1l4cm

C. 28cm

D. 2lcm
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¢
50. The graph below shows a motorist’s journey from town K to town N and back. At 9am he gota
puncture that took 1 hour to mend? ' ’

N 300E=

25

EEP s

20

150

LUTTTE A Y

Distance in kilometres

K-

7am Bam.gamwainﬂamm . :1pm- 2pm -

Time

How many kilometres was the motorist yet to cover by the time he got a puncture?
A. 175km ' '

B. 200km

C. 125km

D. 300km

The new JESMA AUGUST HOLIDAY HOMEWORK BOOKLET will be available. 1@,&all
leading Bookshops from 27tk July, 2015.

Get busy with Jesma Homework
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*

Read the péssage- below. It contains blank spaces numbered 1 to 15. For each blank space, choose
- the BEST alternative from the choices given. '

C %0 N N R W

If you have 1 ___ been to a family 2 in the Maa village
3 | __youknow whata charming 4 instrg;,ctiyg (s;gl;tngus, and how it
S fhe éntire village together. ‘ 6 - those with thé gift of analysing
human beha_viour 7 | closely, it is not 8§ 1 delightful spectacle but an
example of the curious 9 in which individuals 10 families, which
in their turn i | , Societies. You may realise that ybu are 12 the full
ﬂowering ofa » 13 which grewteépgcggusly from a mere seedling | 14
many others which died beca
1. A. never
. A. festival | s 4 _ RN rialgs time
. A. then ) B ‘ and
A. binds g . Dig puts.
. A. By |
. A, really more %C PF almost
. A. ,'only B. aiso- C just -D. that
.« A, ways B. styles C. nature D. means>
10. A, of B. i C. at D from |
11. A. form B. bring C. create D. raise
12. A seeing B. looking C. watching | D. observing ‘
13. A. seed " " B. flower C. érop | ‘D.. tree
14. A. among B. between C. along D. beside
15. A. persistent B. courageous C. leafy D. strong




. For questions 16 to 18, choose the alternative

that BEST completes the sentence given.

16.

17.

SO

18.

Kathurima likes his

beautiful small expensive bag.
beautiful expensive small bag.
small éXpénsive beautiful bag.
small beautiful expensive bag.

Cowy

Orina prefers coffee
than tea.

not tea.

or tea.

to tea.

The boy will sing
A. asifby himself.

C. evenifby '

D. with himsef
For questions 19 (4@ @bse the I
that means the OPROS of thejgdilerTig
word. ’
19. There man mage fidintic stride.

20.

21.

A. huge 4 .

B. sizable
C. tiny

" D. large

The boy confirmed my uncle’s death,
A, refused

B. denied .

C. ignored

D.. protested

Joseph gave a serious suggestion about the
problem.
A. useless

B. vague
C. frivolous

D. impossible

F orbquestions 22 and 23, choose the alternative

that sounds the SAME AS the word in capitals.

22. CHEW
A so
B. now
C. sew:"'.:;éi: EOVIRSE T
D. due .

23. THROUGH
A. though
B. throw
C. true
D. wg

g

jons 24 and .25. choose the BEST

brpions are.
dangerous animals.
s with venom.

B), (i), (8

D: (i): (i), »

Hermothendookgt at her angrily.
(i)  As soon as she saw him she burst out
| laughing. '

- (iii) She was sorry for laughing at an

~ unfortunate man.

(iv) Shethen realised that something was

wrong.

A (i), (), (v), (i)
B. (i), (iv), (i), (iii)
C. (i), (iv), (iii), ()
D. (i), (iii), (ii), (iv)

STD 7 007 ENG 2018
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Read the passage below and then answer questions 26 to 38.

Friendship can sometimes be fulfilling. This is true if we go by the story of Joy. Joy wasborn in a
* family of three. She had a brotherand a s_istér. Her parents made sure that she got all that she needed
both at home and school. Ather school age, her parents took herto one of the best kindergartens in her
home town. There she met her agc mates. They too had their own stories. Joy madc frlends withina

- few days. Her outgoing character carned her liking from both the teacher and her classmates. It was
great because at least the struggle parents g0 through to make children like school wasnota bother for
~ Joy's parents.

When Joy jomed Standard one, her friends changed as most of them transferred to other schools.

~ She had to make new friends. This was rather hard because she had now developed new liking for
books and the transition didn’t go well with her. She would always address the class teacher as aunt and
refer to her kindergarten teacher as teacher. This her farents thought she would get over quickly but not
until she joined Standard Slx ha b crodadddbihaarhile Joy performed well both in
* books and field. ‘ ]

In Standard si ‘ &-n. She was a girl of
sound character. cfhegs 1 ) endiih becausgmy &y kifevillit would come to be
that Joy’s dream of t@opig e countt A i ‘ g The 3 o girls worked hard
in all subjects and shigre tions. Ty | -:._ § e (RS Jogwogldgita d in for Maureen

Mr.Chimuga, can otf§y g@a at the don tdevelop bacharacter




26.

According to the first sentence

A, friendship is always fulfilling,

27.

28.

29.

30.

31.

32.

B. friendship is meant to fulfil.
C. friendship may at times be less fulfilling,
D. success comes through friendship.

How imiany ‘members were in Jﬁy s family

before she was bom"
A. Three

'B. Four

C. Two
D. Five

Which of these statements is CORRECT?
A. The brother and sister were older than §

Joy.
B. Joywas the eldes ¢

Why did Joy’$§
kmdergarten" AL
A. Theyhada lotof money.

B. She was clever.

C. They wanted to show how much they

loved her.
D. They wanted her to get the best
educatxon

.
What shows that Joy was sociable? She -
A. went to school.

B. made friends within a few days.

C. learnt with her age mates.

D. coped well with school environment.

Who was Maureen according to the
passage?

“A. Joy’s friend and classmate whose

character was exemplary.
B. Joy’s neighbour who was also her friend.
C. Afriend of Joy. -
D. Joy’s classmate and friend.

33.

34.

37.

38.

o og er class. "

What brought the change in friends when Joy

joined Standard one?

A. She was now older than most of her
former friends.

B. She was brighter than her age ifiates.

C. Notall of them continued to Standard
onein the same school.

D. Many of them repeated Standard one.

What does the writer mean by saying
“transition did not go well with her?
A. Joy missed her friends.
B. Change of class level was not that
perfect for Joy.
C. The teachers in Standard one were not
friendly.
@ialiad started liking books.

UE to say that
ange from

dard six. _
ts in Joy’s school.
called aunts.

her was in another

L 3
according to the

"

Xamination.

C. Being the best in class and field.
D. Being the best in examinations
nationwide.

What in the passage shows that the two are

great friends?

A. They share positions.

B. They are always together.

C. They don’t let each other down.
D. Both are bright pupils. -

The BEST title for this passage would be
A. Joy.

B. Bad company ruins good morals.

C. Birds of a feather flock to gether.

D. Good friendship.

STB 7607 ENG- 2015



- Read the passage below and then answer questions 39 to 50,

‘Social media has done much trouble to our young children’. This statement in one of the local
dailies caught my attention. What must have prompted the writer? Was it a bang from a wild experience?
These and others are questions I really sought answers to. So I went to an expert in communication
affairs and paused the statement to him. He pulled a clean white paper and two others; one had organised
writings while the other had scribbles. v

“These two papers were once white,” he said. He told me that what had made the two to getto
the state they were was some kind of wntmg ‘information’. One had good orderly writings while the
other had scribbles. Just like the papers, the mind of a child is clean and it depends on what information
is written on it. If the child gets exposed to dirty information they’ll always have scribbles but if they get
good information then their brains will be orderly. ‘ '

No bad information lands in a brain and lea

it good regardless of age. It’s the responsibility of
parents to make sure children gét correct tg expose them the least. Even before
social media, there was infg# 3 il > learneditchcraft copied from their
seniors. The socie ! = 20 | fjustice because it
was mirrored in the ghilf# ia thef¥ordEk ilishigta sarise and train
children the importat ‘ |




39.

- 40.

What caught the attention of the writer in
one of'the dailies?

A. Social media.

B. Effects of social media. .

C. A statement about social media.

D. am'"} ST

The paper the writer was reading can best

~ bereferred to as

41.

42,

43.

44,

A. Newspaper.

B. Monthly Journal.
C. Weekly review.
D. Standard times,

What did the writer wonder about the &

statement? The
A. motive of the writer s
B. purpose of the st

What brings i
to the expert?
A. writing

B.  information

C. colour

D. social media .

The mind of a child compares to one of the

‘following according to the passage, which

one? .

A. Scribbled paper

B. Orderly written paper
C. Clean paper

D. Empty space

45.

46.

49.

50.

Who is charge

Which of the following contributes to
development of a chlld’s brain?

A. Adults

B. Social media

C. Parents

D. Hisor her environment

Which of the following is true accordmg to
the passage?

- A. Old people cannot be affected by bad .

information.

B. Only children are affected by bad
information,

C. Age has no effect on information.

D. The old like the young are easily
affected by bad information.

mentorship of children

according to tf

D. trammg

Which of the following words is the most

appropriate OPPOSITE of the word
‘senior’ as used in the passage?

A. Junior

B. Major

C. Minor

D. Lesser

Which of the following statements BEST
summarises the passage?

A. Onee beaten twice shy.

B. A stitch intime saves nine

C. Better late than never.

D. All that glitters is not gold.

The new JESMA AUGUST HOLIDAY HOMEWORK BOOKLET will be available in all
~ leading Bookshops from 27th July, 2015.

Get busy with Jesma Homework
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Soma vifungu vifuatavyo. Vina nafasi 1 mpakct 15 - Kwa kila nafasi umepewa mrgtbu manne.
Chagua jibu lifaalo zaidi kati ya yale uliyopawa. _

1 majira ya saa tano usiku. Mvua 2 kwa kiasi klkubwa }mm
na saa 3 ﬁxapema za usiku 4 , ilikuwa i 1meaxua - 5 i
f(ijiji 6 - killkuwa ktmelala 7 .. milio ya vyura vidimbwini. “Wuuuu 111'
wi! wil wil” Uéiahi_ . 8 : uhpaa angam na.kufanya kijijichotekuwa . .. 9 .
Usiahi ule_ 10 na sautl mayore_]ea kwamara ya pﬂl baadayakutolewa mayontwa
11‘ B | Ghaﬂa mbwa wahanza 12 " ma hata kuku wall,s,lklka
3 :
waelewe kiini cha ‘ | ‘ | : |
1. A. Tulikua
2. A iliokuwa
menyc
3. Am |
4. A. hiyo
5. A. kusi
6. A. kizima B, C. D
7. A. aghalabu B. i C. i D.
8. A ndef "B, C. DL wea
9. A wamelala B. wameloa C. maskini “D. macho
10. A. ulifuatiwa B. ulifita C. livuta D. ulifuatiwa
11. A. kamsa B. mwangwi C. mwamba D. mhwi
12. A. kutetea B. kuoroma - C. kubweka © D. kulia
13. A. kuimba- B. wakiwka C. wakilala . kugunaguna
14. A nd B c. a Doaya
15. A. ndi B D.z

i C. i




Kutoka swali la 16 mpaka 30, chagua Jibu -
7 sahzhz kulingana na maagizo uliyopewg.

16. hajui kunasa samaki.

“ AL Mviva uviva
B. Uvuvi uvivee -+ - -«
C. Mvivu mvuvi
D. Mvuyi mvivi
17. Kundilipi lina nominoza ngelimoja
A. mate, maji; mazingira, magonjwa -
B. umbo, wazo, wema, kabila

C. ubao, nywele, wimbo, nﬁmi
D. pazia, zulia, shati, sakafu =

18. «

19. Binadamu
nmkwa
A. kidona £
B. fumba §
C. kwato

D: kacha

20. Ningepend
" A. maadam

B. ilhali

C.ila

D. endapo

21. Kanusha: Tulipoenda nyumbani tulimwona.

A. Tusipoenda nyumbani hatukumwona.

B: Tulipoenda nyumbani hatukumwona. - -

C. Hatukuenda -
hatukumwona. -
D. Tulipoenda nyumbam hatu]amwona

nyumbani wala

22. Walikula wali kwa nyama kwake jioni.
Katika sentensi hii kwa imetumika
- kuonyesha . : : '
A. matumizi ya, pamojana
B. uhusiano wa, sababu
C. sehemu ya, umilikaji
D.. pamoja na, umilikaji

23. Fundi wa kutengeneza samani za mbao ni
A. seremala
B. mhunzi
C. mfinyanzi
D. sonara

- 24, - Mwanafunzi huyuatajiunga fiasi mwakani
~ Maneno yaliyopigiwa mstan m
A kivamishi kihusishi - ~
. B. kiwakilishi kitenzi - ... ..
- C. k:vuxmshlkxelezx
' ;D klashmanonuno

i

25.'Chagua po’ mayotumxka kuonyesha
- wakati -
A. Waliposhuka wahmwana mgem :

kwenye

B. Wallposhuka v _s;‘z_mi

’zuri zilizﬂ’)‘adﬂlsha maraﬁk1

- owetu:

B. Nasaha nzurn z:llubadlhsha maraﬁkl
wangu.

C. Nasaha nzuri zilimbadilisha marafiki

D. Nasaha nzuri ziliwabadi‘lisha marafiki

29, M anaymhaxma nchi nymgmenakuﬁanya '

ndiyo makae yake i rasmx hmtwa
A. balozi -
B. mwenyeji .
C. mlowezi
D. mkimbizi
30. Kutokana na nomino mkali tunapata
‘kivumishi
A. kali
B. ukali
C. kalia
D. makali
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Soma Iaartﬁlfﬁﬂithhd @ibﬂ mmmlz 31 Qw i S

ikilia ina jamho Humu ﬂchm ]ambe lenyewe hasa ni kmbx 7

- wananchi kote nchini lia shida 1
viongozi wetu ambao tumewatwika 1 - rahady
katlkatmfahlhlemmknﬁx Wamegu@aakuwa' ahg

kasumba hii amepateza :
itachukua muda oy &

mwizi wa kuku_ ;
sheria zilizoweky

kupinga madai ya i ; . : 0. AlC
mawakili watajika e u -  kadh akuu enzi
ya kusulublsh ; ! Yesu | ' 1 Na maana - w

uzito zaxdl-lnaﬁla tufahamu "A_ _'
chakwambasnkatxkaoﬁmzamm, ,
klballchakupatachochoteunachotaka.
Wazalendowcnzangu,kwammbas:mkubahewongezt
kuongozanchlydumhmbuhmkankamhﬂi"xwamnﬂME”" yepatikan:

. amexbapesaza
umma au mali yamma,tmaﬁwakabdalakemmkwakufakmaa*? Basx kuaa hajagam ya: o
kuphadaakuwa ufisadi utaisha kmkawlctn? A

‘kesho, yatakuwa na mstakaﬁah mm




31. Nijambolisilopingikakuwa - .

A. mbiuyamgambo imelia.
B. wazalendo wa Kenya wanalia.
-Gy wahengah&walmkasea wazaiendo

32.

| B vnongozn wachache washnghui
i !!flamwafnkazﬁaﬁftweza ukabili

33;" |

34,

‘ ,D wananchz

3S. Nnhplhahtendcmmmzxwalmku" -

A. Kupigwa kltutu na wananchi.

C mgwa kifungo kirefu.
B }Bxpatawakzhwakmnteteakor&m

36. Tuklscma serikali i ina ‘mkonn m:efu’ mg _'

maana kuwa . .
- A serikali inapenda wazalendo wake. ..
_B. smkahmamkommﬁxzaldlyamko
- C. serikali ina uwezo wa kukukamata.
D. smkahmakubahmmkuwammhh.

Kuﬁmgm:wamashm:m;akwamma. 1

o

37. Kuimgananaklﬁmguhxk{ ni kweli knsema i
A ahyeﬁusxka naufisadi atiwe mbaroni, .
B. hongo baxgmkahkamaoﬁm.

=7 C.rushwa hmpemq katika barabara-

> 3 uﬁsaé: sw ehanzo cha kudororakwa -
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' ”Shuie ya Msmgl ya Lola,
, - SLLP 34121 B
[ . . ) . ¥ B : R T S MAW{NGU
‘ o T - 6-3-2015

Mwandani Radhia, . EE

Zipokee salamu belele mfane wa: changarawe ufuoni mwa bahari. Habari-za tangu
tulipoachana siku ile? Nmayo matumaini tosha kuwa u buheri wa afya na mzima kama chuma cha
pua. Hata mimi sina neno ni homa tu za kawaida ambazo huja na kuenda Bado nallbmglr:sha
gurudumu hili la masomo ambalo sxku hizi limekuwa nanga.

Nmajua tayari umeshtuka na kushangaa k'Wa kupokea waraka kntoka kwangu wakatl kama
huu. Haidhuru, dunia haikosi mapya. 8i unajug ) duma ina vycma na vimbi? Amini usiamini
Radhia, leo hii mimi nipqg ' leni na kuendetea ‘A4 IASOmo
yangu. Nilimaizi kuw Eliny u ni ngazi ya kufikia
ndoto za maisha, R , BT I

Ninakush a-Radhig kwa, asia waleo. Ni Bka enzi ﬁiié; Daima
hukuchelewa wal . ’ u yangu. Kwa bahati
mbaya, enzi hizo fjli 0 yote uliyonieleza,

- Ingawa hukufa mqy i ” : ¢y 4 0. i

Waama, n : Alinifunua macho
nikauona ujinga: ithuids u R, ST

Laazizi R achu oyaelekeza kwako.
2 jinsi ulivyoendclea
Ingawa hat ana uhusnano wowote st wa damu si wa usaha,
bado uliendelea kunishauri. Hakika uliwasaidia wazazi wangu kunielekeza barabara ,

Mungu ni mwema, hatimaye nilivona mwangaza. Masikio yangu hupeﬁezwa na mazungumzo
yanayohusu elimu. Kinyume kabisa na hapo awali, leo hii mambo kuhusu elimu ni wimbo mtamu
masikioni mwangu. Ninajuta kuwa nimepoteza miaka mitatu ya elimu. Eti nikichuma pesa mapeni
manane, Haidhuru, kuteleza si kuanguka. Nlta]xkakamua na mwlshowe mtafamk}wa kwam penye
nia pana njia. Aghalabu ujinga hutangulia werevu.- ' '

Hivi ninavyokucharazia barua hii, nimerejelea ndoto yangu ya zamani ya kuwa daktan Kwa
miaka mitatu niliyorandaranda mjini, sikuwa na mwelekeo tuseme nilikuwa bendera ambayo kawaida
ufuata upepo. Nilikuwa kama adinasi atembeaye ndani ya gongo la msitu lenye giza totoro. Sikuwa
na ndoto imara. Waama, mwanzo wa jino ni ufizi. Leo mikakati na mbinu zangu, mmempxga msasa
vilivyo. :

 Kwa sasa nitakomea hapo. Wakati ukiniruhusu huenda nikutembelee mwakani panapo
majaliwa. Wasalimie wote huko Rahaleo. Endelea na moyo huohuo wako wa kuwashaun wengme
Kuntu, wewe ni rafiki wa kufa kuzikana.

Mwenzio,
Rudisha Mwema. i




41.

Mwandishi al..ndika barua hii akiwa | 47, Maisha yaliyofananishwa na giza totoro au
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A. msituni msitu ni
~ B. mijini A. maisha ya shuleni.
C. shuleni B. maisha ya kutafuta pesa.
D. kijijini - C. maisha ya Kurandaranda mjini. .
: _ D. maisha bila maono ya baadaye

42. Kulingana naaya ya kwanza o

A. Rudisha ni mzima kama chuma cha 48. Radhia alisaidiana na nani kushauri

pua. : Rudisha mwema? -
B. Radhia anaugua homa ya kawaida. A. Wazazi wa Radhia
C. Rudisha mwema anasalamiwa na B. Wazazi wa Rudisha
Radhia. _ C. Walimu wa Rudisha

D. Radhia anadhaniwa kuwa yu mwema D. Marafiki wa Rudisha
43, Lililochangia mwandishi na kifungu hiki, elimu
44, maana sawa na -

- i sharti ainame”
apwa hali wali mkavu.
jua hujua.
nwana kulia hulia

45. Kulingana na mwandishi, kupuuza elimu

ni sawa na

A. kujiangamiza

B. kuwakiziwi - -

C. kuogelea baharini

D. kujifanyaruso wa samaki
46. Mwandishi ahyasusmmasomokwakxpmds

gani?

A. Miezi mitatu

B. Muhulamzima

C. Miaka mitatu

D. Mwongo mmoja

:
Thenewmmmmv HOMEWORK mﬂbe avﬁab!e in all
leading Bookshops from ZTB! July, 2015.
Get busy with Jesma Homework




You have 40 minutes to write your composition. -

Below is the beginning of a story. Write and complete it in

Your own words making it as interesting
as you can.

.....................................

On that day, my friends and I decided to try something new. We

i

S &




Umepewa dakika 40 kdandika insha yako. Andika mtungo wa k

usisimua ukimalizia kwa maneno
yafuatayo o

et eres i sn e ndipo nilijua kwamba ukiyapuuza mashauri ya wakuu wako, utajuta.
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